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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit, which set of interfaces is enabled for Ethernet switching? 

A. ge-0/0/6, ge-0/0/7, and ge-0/0/8 

B. ge-0/0/6, ge-0/0/8, and ge-0/0/10 

C. ge0/0/6, ge-0/0/7, ge-0/0/8, and ge-0/0/10 

D. ge-0/0/6 and ge-0/0/8 

Correct Answer: C 

 

QUESTION 2

Click the exhibit button. 
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Switch-1 in the exhibit receives a packet from User A with a destination MAC address of 

00:26:88:02:74:47. 

Which statement in this scenario is correct? 

A. 

Switch-1 sends the packet out ge-0/0/7 only. 

B. 

Switch-1 sends the packet out ge-0/0/7 and ge-0/0/8. 

C. 

Switch-1 sends the packet out ge-0/0/6, ge-0/0/7, ge-0/0/8, and ge-0/0/9. 

D. 

Switch-1 sends the packet out ge-0/0/7, ge-0/0/8, and ge-0/0/9. 

Correct Answer: A 

 

QUESTION 3

Which two statements are true regarding RIB groups? (Choose two.) 

A. The first table listed is the primary route table and determines the address family of the RIB group. 

B. The last table listed is the primary route table and determines the address family of the RIB group. 
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C. A RIB group must contain one or more export-rib statements. 

D. A RIB group must contain one or more import-rib statements. 

Correct Answer: AD 

 

QUESTION 4

Which statement describes GRES? 

A. GRES requires NSR to function properly. 

B. GRES provides routing loop protection. 

C. GRES provides hardware-level high availability. 

D. GRES rapidly detects link failures. 

Correct Answer: A 

 

QUESTION 5

Click the Exhibit button. 
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You are attempting to set up IS-IS on a device that has two interfaces (ge-0/0/1.0 and ge- 0/0/2.0) in Level 1 and one
interface (ge-0/0/0.0) in Level 2; however, it does not participate in either level. 

Referring to the exhibit, what is the problem? 

A. The ge-0/0/0.0 interface must have the Level 1 disable statement removed. 

B. The lo0 interface must participate in both levels. . One of the interfaces requires a network entity title on it. 

C. All of the interfaces must have the level disable statement removed. 

Correct Answer: C 

JN0-349 PDF Dumps JN0-349 Practice Test JN0-349 Exam Questions

Powered by TCPDF (www.tcpdf.org)

JN0-349 PDF Dumps | JN0-349 Practice Test | JN0-349 Exam Questions                                6 / 6

https://www.pass4itsure.com/jn0-349.html
https://www.pass4itsure.com/jn0-349.html
https://www.pass4itsure.com/jn0-349.html
http://www.tcpdf.org
https://www.pass4itsure.com/jn0-349.html
https://www.pass4itsure.com/jn0-349.html
https://www.pass4itsure.com/jn0-349.html

